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=1 J =1 I':r,lJU
5,00 4,00
2,00
0,00 . 0,00 ;
PAgaring 1 PAgaring 4
mrIM 005947 mrIH 1,1847
[ [ 26,4741 [ [ 17 6633
WETOEY ﬂ,'{IEH WETOEY ]_IS]T_'I_[I
miiIEAN 0,6988 mMEAN 02,4216
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0,30 0,05
0,26 0,04
= 020
E 015 = 003
£ 010 3 o2
_g 0,05 S om
0,00 £ 0,00
g -0,05 2 o1
5 010 -~ Jecgin
S 015 -0.0,
0,20 -0,03
0,25 0,04
Surge Rl
AN 0,180 AN 0, 0295
| BAF%4 0,24%0 | BAF%4 00387
BETDEY 0,06L9 BETDEY 00087
WMEAN [ 00353 WMEAN [ 0,067
0,15 0,14
E 00 01z
.E d = 010
0,05 & 0,08
_% = 0,06
2 000 2 om
[y = 502
-0,05% !
= 0,40
0,10 0,02
Swiay Pitch
WA 0,0550 WA 0,004y
EMAX 0,1290 WrAAY 0,120
BETDEY 00265 WETDEY 0,01ES
mMEAN | 0,0415 mMEAN | 0,0607
001 0,10
o 0,00 0,00
=00 w 00
g g 0,20
0,02 a
0,03 g A0
g 2 0,40
g -0.04 2 50
2 pos 0,60
0,06 0,70
Heave Wi
WA 00517 WA 0,640
B AX -0, 0265 B AX -0,3256
BETDEY 00028 BETDEY 00381
BMEAN | 0,035 mMESH | 20,4980
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